Installation Instructions for TH167DR
Toyota Hilux LN167 Diesel Dual/Extra Cab
110L Replacement Tank

. Remove rear section of drive shaft taking care to mark splines for later refitting.
Drain and remove original tank.

. Remove fuel sender unit from original tank. See float arm modification sheet and
modify float in accordance with early or late model vehicles. Adjust float arm length
to ensure accurate fuel gauge readings. Position and fit sender unit into new tank
using OEM screws. Screw brass fittings into tank, fitting to front of tank is the fuel
pick up, fitting to rear of tank is the return. Transfer rollover valve and screws from
OEM tank to new tank. Attach hose to respective fittings.

. Lift tank into position and bolt in place using new bolts provided. Connect all lines
and sender unit wires.

. Refit drive shaft.

. Fill tank with fuel and check all hoses and fittings for leaks.



FITTING KIT CONTENTS TH167DR

Brass: Electrical:
o 1xP61/4x1/46mm Elbow
o 1xP65/16x 1/4 8mm Elbow
o 1xP31/2x1/412mm Straight
Bolts / Nuts: Misc Parts:
o 6xM8x25mm Bolt o 1 xSender Unit Adaptor Bracket
o 6 x M8 Spring Washers
o 6xM8x25x16g Washers
o 2 xM5x8mm Pan Head Screws
o 2 x M5 Nuts
o 2 x M5 Washers
Hose Clamps: Cable Ties:
Sender: Pumps & Filters:
Hose: 4 Pages of Fitting Instructions Consisting of:
o 1x6mm Fuel Hose @ 1000mm o 1 x Page Fitting Instructions
o 1x6mm Fuel Hose @ 1400mm o 1 x Page Fitting Kit Contents
o 1x8mm Fuel Hose @ 1400mm o 1 x Page Sender Modification Drawing 97-01
o

1 x Page Sender Modification Drawing 01+

Kit Packed By

Checked By




TH 169 DR \41_&.\,9&.
bﬁog..h 93;}. @mgﬂh\/.

Pe 0/ 200,

measuse  SOun %uacf MU..CQ.#. anal

beud, down 25

leave ~this beud Ludouclad.

(Sede. 10 ).

.“\u.ﬂﬁo,ﬂ@of._,. ew out

oem bend Als
will twevtease 0 (oot

acea Fasuwrf ) |
. ot Co Yy _@Cnn‘.f,oc, . .



U hox  Seader 4:7/900»;/ cret
ofisot  andd (atmr,

AL

7

LPA Sendec 6‘-’!':.3!90(‘{ acw. [

Ao

S Rewmove  sewdec Q:‘:\s\aw% Peoun surﬁ:oc-L.

A0 varm Leown

.as  showon.

. Moont wew  so acue using M5 X0
Secewss  awst works Fmdtcz@eoﬁ.

@. Reww{' zendes %SSMBB o wnewo

soffzer-k- axwm, ensore wices

(AJL(;{ VLO'(' 3&"'
\Sammedt ouwslec

czsseuaﬂi s LGited wdo

cmg\/& " ,C’ lock acwi  oc

. —amﬂa when
daunl.



